R R

13bit fEHE -
10.32 mT &3[& : 0.0001 mT
16.4 mT &i[& : 0.002 mT
12 bit fiEATE -
10.32 mT &3[& : 0.0002 mT
16.4 mT &i[& : 0.004 mT
10 bit fiEATE -
10.32 mT #3[& : 0.0008 mT
16.4 mT &i1[& : 0.016 mT
EEAFHIRCAE(E (£0.32 mT #ifE > DA mT R EEAL)
#% 1 0.160 mT/V
#iEE : - 0.320mT
FEFHIRCAE(E (£6.4 mT #3[E » DL mT Ky BEfir)
#X 1 3.225 mT/V
#HE © - 8.063mT
fEAFHIRSAE(E (£0.32 mT #i[& - DAsf A BRI )
R 1 16 =HT/V
#EE ¢ - 3.2 ST
FEFHIRCAE(E (£6.4 mT #0[& - Dl Ry BRI )
A% 1 32.25 5Hp/V
#kEE - - 80.625 =T




